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#include <stdio.h>
int main()
{
int numl, num2, answer;
numl=100;
num2=200;
answer = numl + num2;
printf("answer: %d\n", answer);
return 0;
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$ gcc -o calc0l calcOl.c
$ ./calc01
answer: 300

$

int numl, num2, answer;
scanf("%d", &numl);
scanf("%d", &num2);
printf("numl: %d, num2:
answer = numl + num2;
printf("answer: %d\n",

¢d\n", numl, num2);
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LEDEIHIICHD T EZMERL TLEI 0, # PV DES even
(HEFR L e 3o h¥n LT 23 W) echo 11 | ./a.out even
echo 2 2 ./a.out even
echo 3 3 | ./a.out w%n
# BE05S win
echo 1l 2 | ./a.out win
echo 2 3 | ./a.out lose
echo 31 | ./a.out lose
# BHOBE Lose
echo 1 3 ./a.out $
echo 2 1 ./a.out

echo 3 2 | ./a.out
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